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4 H —| 40 43 83 .8 2.2 M H 23 44 42 86 9.6 76. 4 84 |k B OBl 47 53 100 19. 2 80. 8
5 JI: El 36 41 7 .8 2.2 KB A 45 47 92 15.6 76. 4 85 |4 = I | b1 48 99 18.0 81.0
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21 |H& H 39 36 75 .0 75.0 = g 43 46 89 10. 8 78. 2
22 /A 47 46 93 .0 75.0 /N 50 50 100 | 21.6 78. 4
23 (7] H 36 39 75 .0 75.0 Y/ S 49 51 100 | 21.6 78. 4 5 5 = n#&
24 |14 Bk 47 45 92 .8 75. 2 it 48 45 93 14. 4 78. 6 5o I [&| 45 44 89 13.2 75. 8
25 |1 W =| 43 49 92 .8 75. 2 JIl = H 44 43 87 8.4 78.6 = = [&| 44 41 85 8.4 76.
26 |E Kk El 47 44 91 .6 75. 4 e % 45 48 93 14. 4 78. 6
27 |#& #k +| 42 43 85 .6 75. 4 U 44 48 92 13.2 78. 8 Ry« R HE
28 |t Bl 45 46 91 .6 75. 4 K 46 52 98 19. 2 78. 8 = I |5 0 0.0 0.0
29 | il 43 48 91 .6 75. 4 MR 44 41 85 6.0 79.0 /NN 7z I 0 0.0 0.0
30 |& M 17| 42 49 91 .6 75. 4 [LE ) 48 54 102 | 22.8 79. 2 [ * J& 0 0.0 0.0
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